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The flgures in the margin indicate
Jull marks for the questions

Answer e{ther in Englzsh pr in Assamese.

1. (A) Choose the most appropnate answer
' from the given optlons in respect of the

followmg L. .. 1x5=5
WWWWWW%’{{@M
AR Tt s ~

) Which of the following can be used for
buyback of shares ?

Contd.



- W@*‘mwﬂﬁwmmﬂaﬁa
S R

" (a) Free resérves
w R
(b) S\ecﬁriti,e,s_, premium
afogfs wftes
(c) Proceeds from fresh issue of shares

Wﬁﬁawwquﬁ

(@ All Of the above
' oET WD

(ii) Transfer of shares in case of private
company is : :

TR AR o WG
(a) Prohibited

(b) Restricted
i A
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(c)- .Freely trénsferraiblé :
'-'(d),- None of these | N
SAIG (PICIDBIR T

(iii) Which one of -the following is not a type
of share capital ?
RS (INCE! oM AR AT T ?
‘(@) Authorized capital

SIS
() Equity shgre -
e o
(c) Iséuéd,'cépital :
Rfbrge e
(d) Paid-up capital
oS T
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(ib) ‘Which one of the following does not
appoint the directors of a company ?

R RGO (R et et e e
(a) Articles of the cdmpany .
CaiE
(b). Central Government
TN HIR
(¢ Secretary of the company
ek | O 1 G
(d) Tribunal
. TifEe

(vy Which of the following is a right of a

proxy ?
weTe SRS @R o AR aftR

(ﬁ) A proxy can demand poll
coiBaz TR IR S
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(b) A proxy can vote

. {¢) A proxy can attend fhe_ meeting

(d). All of the above
SIG HIRCL0!

(B) State whether the following statements
are true or false E 1><5=5
WWWWWW mww%rm '
W 4

i) Certificate of Incorporation is a
conclusive evidence that all the
provisions of the Act have been duly

complied Wlth

AGI SISNE T TOIE AW (X I
WW@WWWMI -
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i) A company can never 1ssues shares at
‘a discount.

MWWWN%W
. R

(i) A dix_'e"ct'of is an officer of a company.

| amWfﬁmﬁﬁawﬁwn

'(iv) Arhcles of a company can be -altered
by passing an ordinary resolution.

e B 2 TR CorRIT SRR #iReR
3R]+l
" (v) The office of the Registrar is public
office. o
AGEF IR e G e PRI |
2. Write very short answers to the following
questions : 2x5=10
o iRee o ww faml 3 |
() What is a statutory company ?
R i
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(i) Who is a promoter. ?
AT T 2

(iii) " Which companies must have their own
Artlcles of Assomatlon ?

S 5 9{ |
L1 (4 I

(iv) What do you mean by ‘share Wa;réni; '
o ¥ e g o

v) Define the term ‘reserve capital’.
T T AR et T

3. Answer the following questions : (any SJour) .
| 5x4=20
e wﬁﬂﬁw W ﬁﬂT (R sfasY)

' (i} Write a note on borrowmg powers of a -

company.

@MY Yeig TeR RIm G o
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(i) State the qu'aliﬁcations and
dlsqua.hficatmns of a director.

| IR Tl el mw 1
T (i) Explam the features of a government

company.

5P AT (IS TR I = |

~(iv) When is prospectus not required to be

issued ? .
cofemt wrgbreta R R e

(v) Briefly explam the legal posmon of a

promoter.

arés wre fifd ST T T

(vi Explain the doctrine of indoor
management with suitable leading case.

THTE RO (MW TFRR wrefefd
JTFNT TS Y FA
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4. Define a-company. Explain various, types of
' .companijes which can be registered under
the Indian Compames Act, 2013. 2+8=10

' cer»ﬁﬂasmatﬁhnuwmwaa<ﬁrwmﬁ<aﬁﬁ
20137 S47S <G ¥R A Rfen e
CRI™HTY FE Iyt A1

Or/W%T
Descrlbe the procedure relating to the
formation of a company under Indian
Companies Act, 2013. Also state the

documents to be filled with the Reglstrar at
the time of lncorporatlon of company.

. 7+3=10
@ﬁtﬂa @ =%wS, 2013-7 GRS sifve
CPIATIT oion aleT! I 9| FATS @I, -
ﬂéﬁﬁﬂﬁﬂmms9@ﬁ¢$a@m@EWW*ﬁaﬁﬁaﬁﬁnwﬁﬁr

- I S 74

5. Define Memorandum of Assomatlbn Explain . -

" the clauses of Memorandum of Association.
' 2+8=10

Wﬁf’ﬁﬂ\wﬁmlWﬁNWﬂ{iWWI |
Or/ g4t '
Define a prospectus. Who are liable for

misstatement in the prospectus ? Describe
the liabilities of them for misstatement in

the prospectus. 2+2+6=10
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‘PWWWV{WWIW@HWWW%W" |
N IRRE m@mﬂmwﬁqﬁawc@\mﬁw
Wﬁﬂgﬁvﬁvaﬁn

6. Who is a member of a company ? Who can
' become a member ? State the modes of

acquiring the membershlp of a company.
2+4+4=10 -

@I T @ 7 R T R A 2
mﬁawquwﬁm%mm
%‘cm?ﬁn |

. Or/ @t

Define a debenture. What are its
characteristics ? Explain various kinds of

debenture. : : 2+3+5=10
immmwﬁm:imhﬁ%}mgﬁﬁ% ? Rfew
YW ?M"ET WW | o

7. Who are directors of a company ? How are
they appointed ? State the legal position of
a director. | 2+4+4=10

RIS T (7 (OSFIRE (Pewed Feam
[ W 2 ABES Sz e T w4
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Or/ o4q

What do you mean by Annual General
- Meeting ? Explain the legal provisions
inserted in the Companies Act, 2013 in

connection with the Annual General Meeting,
‘ 2+8=10

AT AR o I & @ 2 SRS @A
wigq, 2013- ARRE ARG Ay Fo FTF©
wignare R PR IR0t #A1
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